2—1. HIEABOHR (BRE-20E)

CIoH=p: PN
4

24  |gTeEEELE| 25 |eidERER| 26 |EUEEEER| 27 |eieEmEn| 28 | anEER
RERE (%) (%) (%) (%) (%)
RE 2,944 1.1 2,984 1.4 2,995 0.4 3, 031 1.2 3, 061 1.0
neE 885 A 4.7 923 4.3 914 A 1.0 924 1.1 914 A 1.1
=%.11 3,827 A 0.3 3, 907 2.1 3, 909 0.1 3, 955 1.2 3,975 0.5




2—2. BXANROHR (KBHER - € Dithithis)

(B EHA)

FE
24 |aneEml| 25 |WiEml| 26 |aveEmr| 27 |wiEmk| 28 | WiEmEk
EE A (%) (%) (%) (%) (%)
KEPTHER 2,477 A 0.6 2, 549 2.9 2,571 1.1 2,628 2.0 2,653 1.0
T O fth 3 is 1, 350 0.3 1,358 0.6 1,332] A 1.9 1,327 A 0.4 1,322] A 0.4
a&t 3,827| A 0.3 3, 907 2.1 3, 909 0.1 3, 955 1.2 3,975 0.5




